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QUESTION 1

It is ironic and somehow tragic that good people are often dull while evil people can be endlessly.

A. ordinary

B. stubborn

C. skeptical

D. fascinating

E. unobtrusive

Correct Answer: D

The word "ironic" signifies a contradiction of ideas within the sentence, and the conjunction "while"
indicates that the characteristics of the good people and the evil people are being contrasted. Therefore, if
the good people are often dull, the evil people must be having a characteristic which is the opposite of
being dull.

Among the given choices, it is only the word fascinating that is opposite in meaning to the world dull. So,

"fascinating” is the answer.

QUESTION 2

The grave problems that affected him were the purely ones of hunger, pain and fatigue.
A. physical

B. imaginary

C. irrelevant

D. hereditary

E. coincidental

Correct Answer: A

Hunger, pain and fatigue cannot be described as "imaginary”, or "irrelevant”, or "hereditary", or "coincidental" problems.
They can best be described as "physical” problems. So, "physical” is the answer.

QUESTION 3

Narrowing the eyes when startled by a sudden noise or a noxious stimulus is response, serving to reduce
the exposure of sense organs to injury.
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A. an imaginative
B. a protective
C. a corrective
D. a therapeutic
E. a therapeutic

Correct Answer: E

QUESTION 4

Based on the email, what is the relationship between Andrew and Sarah?

Andrew, This year, Mom and Dad will be traveling to Hawaii for Christmas. Dylan and | hoped we could still get together
at the house for the sake of maintaining tradition for our kids. If you and Susan don\\'t mind, we\\'d like to arrive two days
before Christmas, as always, and uphold our typical schedules. Because Mom and Dad won\\'t be here, we\\ll need
help making Christmas dinner and desserts, and will also need help decorating the house for Christmas. Could you
bring lights and ornaments? We will be providing the tree. Finally, we need help transporting all of our presents and
decorations this year. Would you mind storing some of our decorations in your car for the drive to Mom and Dad\\'s? Let
me know! -Sarah

A. brother and sister

B. father and daughter

C. best friends

D. husband and wife

Correct Answer: A

QUESTION 5
State Spending for California - FY 2016
Welfare 9% .
: Protection 8%
Education 15% Transportation 4%

General Government 4%
Other Spending 3%
Interest 3%

1 0,
Health Care 35% Pensions 18%
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Using the graph, choose the answer that best depicts California\\'s budgetary priorities.
A. California prioritizes spending for health care above all other categories.

B. California prioritizes spending for health care above most other categories.

C. California finds transportation to be the least important budgetary item.

D. California\\'s budgetary allotments show that health care and pensions are equally important.

Correct Answer: A
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